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(A )5.As apicture, AABC, ADBE and AFEC are all isosceles right
triangle. AFEC area is 16 times than ADBE area. If AB=8, then
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( C )10.1t shows a picture. Amy, Sam and Leo start to run from a point.
Three persons go for three different directions. If ~1=,2, Amy’s and Leo’s
speed is 26 m/min. Sam’s speed i1s 24 m/ min. 5 minutes later, Amy, Sam and
Leo are standing on a straight line at the same time. The distance between
Amy and Leo is meter.
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( B )I15.As apicture, O is an origin. A point coordinate is (-15, 0). Linear
function of straight line Lis y= —§+2. Straight line L intersects y
axis at point C. AB 1 X axis, AB intersects Straight line L at point
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(¢ )20.As shown in the figure, a playground has a giant Ferris wheel,
which rotates at the same speed, the lowest point of the ride, and 5
meters from the ground. When Nina takes the cable car A to the
ground 15 meters away, it finds the B of the opposite height. The
cable car, at this time, is 60 meters apart. When the cable car No. A
continues to rotate to a certain height, it is found that the cable car No.
C 1s directly opposite to the height, and the distance is also 60 meters.
What is the height of Nina from the ground?
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1. The picture on the right is a schematic diagram, Sam wants to know the
height AB of the lighthouse. He selected the appropriate time, vertically
erecting the standard CD at point D to 1.5 meters, the length of shadow DE
is 3 meters, and B, D, E are on the same line. At the same time, along the DE
direction, Rita also erected the same height of the standard FG at point G,
and the length of shadow GH is 6 meters. If DG is known to be 17 meters,
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